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Xig1—1 |2040] & | 7 B | KER | — 311 B [ bR | 100 | 44 - 31 127 ¢C - 31 - 30 | R - - - - - R3 - 124 ] - -
Xig1—2 [2040] % | B | KER | — 241 B [ FF | 100 [ 44 - 31 122 ¢C - 2.41 - 30 | Rk - - - - - R3 - 153 - -
Xig1—3 |2040] H | 4 B KER | — 101 & | PR | 100 | 42 - 31 50| C - 101 - 30 | Rk - - - - - R3 - [ 18] - -
Xig1—4 [2040] » | 7 B | KER | — 1.76] &8 | R [ 100 | 42 - 31 66| C - 1.76] - 30 | Rk - - - - - R3 - 104 - -
Xig1—5 [2040] & [ 7 B | KER | — 297] B [ FF | 100 [ 42 - 31 146 C - 297 - 30 | Rk - - - - - R3 - 137 - -
Xig2 2041 (& | 7 B | KER | — 678] B [ FF | 100 [ 39 - 31 281] ¢ - 6.78] - 30 | Rk - - - - - R3 - 105 - -
X153 2045) 1F | 7 B KER | — 345 B [ FF | 100 [ 48 - 31 180 C - 345 - 30 | Rk - - - - - R3 - 193 - -
Ria—1 [2046] ~ [ J B | KER | — 093] & [ kR [ 100 45 - 31 38| C - 093] - 30 | Rk - - - H22 | - R3 - [1a - -
Xig4—2 [2046] % | I B | KER | — 807 B [ kK | 100 [ 44 - 31 527 ¢ - 807 - 30 | Rk - - - H22 | - R3 - 198 - -
Xig5—1 |2055] & | 7 B | KER | — 19.32| 8 | RK | 100 ]| 57 - 31 675] C 0.51 19.32] 051 | 30 | Rk - - - HI3 | - R3 - [ 189 [ - -
Rig5—2 | 2085] 1= [ 7 B KER | — 355 B | bR | 100 ] 62 - 31 81 C - 355 - 30 | Rk - - - H11 - R3 - [15 ] - -
2055] ~ | 4 B | KER | — 596 # | hK | 100 ] 60 - 31 237] ¢ - 596 - 30 | Rk - - - H11 - R3 - [ 221 - -
Xi5—3 [2055] & | B | KER | — 292 B [ rF | 100 60 - 31 114 C - 292 - 30 | Rk - - - H13 | - R3 - 217 - -
X6 [ 2056] 1= [ 7 B KER | — 890 & | hK | 100] 52 - 31 275] B - 869 - 30 | Rk - - - H22 | - R3 - [1aa ] - -
X7 2058] 1% | 7 B | KR | — 12.85| B [ FF | 100 | 54 - 31 662 C - 12.85] - 30 | Rk - - - Hi5 | - R3 - 234 - -
X —1 [ 2059] 1= [ J B | KER | — 339 & [ bR | 100] 59 - 31 87 C - 339 - 30 | Rk - - - Hi15 | - R3 - [15 ] - -
Xigg—2 | 2059] ~ [ B | KER | — 6.49] B | hK | 100 ]| 54 - 31 334] C - 649 - 30 | Rk - - - HI3 | - R3 - [ 234 ] - -
Xi%8—3 | 2059 &2 | # | kEE | — 6.07| # | K | 100] 54 - 31 211] ¢ 0.21 6.07] 021 | 30 | Rk - - - HI3 | - R3 - [ 164 ] - -
Xi59 2061 &b | K| # | KER | — 5.62| B ﬁ';_,',‘\‘ ;? 58 | 60 - 1:3 [¢] 0.60 562 060 | 40 *Efif - 35 - H12 | R3 | R3 - 154 | 7 - |EREEERS
Rig10—1]2062| (& | K | 8 | KER | — 4a3) B | FPE1 83 ] 55| 6o - 85 ¢ 0.20 443[ 020 | 40 *%,Ef & - 35 - H21 | R3 | R3 - | 167 ] - -
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RiF10—2|2062| 1= | Kk | # | KEER | — 1.78| B | RF | 100 | 57 60 - 51 ¢C - 178 - 40 *Efif - 35 - H21 [ R4 | R3 - 151 | 7 -
Rigi11—1]2123| Y | K | 8 | KER | — 552| B [ kK| 100 | 54 | 60 - 199] ¢ - 552 - 40 *E%Ef - 35 - H13.| R7 | R3 - 164 | - -
2123 b K - 2.98 100 | 64 | 60 - 9.7] © - 2098 - 40 | K - 35 - H11 | R3 | R3 - | 203 | - -
Ki11—2 w| k| | KER g | e ol
2123 | K| #E | KER [ — 546 B [ R | 100 | 52 - 31 12.3| C - 546 - 30 | Rtk - - - H13 | - R3 - 102 | - - |EREEEHS
RiH11—-3|2123] & | Kk | # | KBEE | — 15.92| B | FK | 100 | 54 60 - 574 C - 1592 - 40 *E%Ef - 35 - H13 | R7 R3 - 164 - -
2124 ~ | K| & | K&K | — 288 B [ KR | 100 | 54 60 - 72 ¢ - 288 - 40 *Efif - 35 - H13 [ R7 R3 - 14 | 7 -
Xig12
2124 & | K| B | KER | — 10.20( B [ RK | 100 | 56 60 - 292| ¢ - 1020 - 40 *E%Ef - 35 - H13 | R5 R3 - 143 | 7 -
RiH13 | 2127] s | K | & | KEE [ — 792 B [ FF | 100 | 58 60 - 236 C - 792 - 40 *Efif - 35 - H6 | R3 R3 - 157 | 7 -
Xi%14 | 2130| & | K | & | K&EFE [ — 10.74| B | FK | 100 | 64 | 60 - 419| B 0.54 10.62| 053 | 40 *Efﬁ - 35 - H25 | R5 | Rs - | 20| 7 -
Xig15—1[2133] & | 4 # | kKER | — 302 B [ rF | 100 47 - 31 139 ¢C 0.42 302 042 | 30 | REtk - - - Hi4 | - R3 - 198 - -
Xig15—2[2133] & | I B KER | — 506 B [ kR | 100 [ 47 - 31 280] B 0.35 467] 032 | 30 | Rtk - - - Hi4 | - R3 - 240 - -
Xig15—3]2133] % | 4 B | KER | — 348 B | bR | 100 ] 46 - 31 89| C 0.31 348] 031 | 30 | Rk - - - Hi4 | - R3 - [1oo ] - -
Xig15—4[2133] h | 7 B KER | — 943 B [ FF | 100 [ 46 - 31 524 C 0.84 9.43| 084 | 30 | REtk - - - Hi4 | - R3 - 218 - -
Xig16 | 2134] & | 4 B KER | — 169] & | PR | 100 | 46 - 31 80| C 0.18 169 018 [ 30 | Rk - - - - - R3 - [ 189 [ - -
Xig17—1[2135] 1% [ 4 B KER | — 1.80] & | rE [ 100 | 46 - 31 85 C - 1.80] - 30 | Rk - - - Hi4 | - R3 - 168 - -
Xig17—2[2135] % | B | KER | — 1.29] B | R [ 100 ] 45 - 31 38 ¢C - 1.29] - 30 | Rk - - - - - R3 - 101 - -
Xi17—3[2135] 5 | 7 B KER | — 283 B [ R | 100 45 - 31 83 ¢C - 283 - 30 | Rk - - - - - R3 - 101 - -
Xig18 | 2137 % | 4 B KER | — 163 &8 | R [ 100 | 44 - 31 54/ C - 1.63] - 30 | Rk - - - - - R3 - 100 - -
Rig19—1|2142| 1= | Kk | # | KER | — 049 B | FK | 100 | 65 [ 60 - 09| ¢ 0.06 0.49[ o006 | 40 *Efif - 35 - H9 - R3 - | 155 | - -
Rig19—2]2142] 5 | K [ & | KEER | — 482 & [ PR ]| 100 ] 49 - 31 178] ¢© - 482 - 30 | Rtk - - - HI3 | - R3 - [ 142 ] - -
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Rig20—1 2143 2 | K | # | KER | — 231 B | FK [ 100 | 65 | 60 - 39| C - 231 - 40 *E%E;f - 35 - H22 | - R3 - | 131 - -
Xig20—2[2143] 3 | k | # | kERE | — 552] 8 | FK [ 100 ] 49 - 31 228] C - 552 - 30 | REk - - - H13 | - R3 - [159 [ - -
Rigo1—1]2144] ~ | Kk | # [ KER | — 3.13] & [ FF [ 100 ] 49 - 31 81| C - 3.3 - 30 | REk - - - Hi4 | - R3 - [ 10| - -
Rigo1—2]2144] & | Kk | # [ KER | — 535 8 [ FF [ 100 ] 48 - 31 194 ¢C - 535 - 30 | REfk - - - Hi4 | - R3 - [ 134 ] - -
Xigi21—3[2144] 5 | k | # | kERE | — 2.70] 8 [ FF [ 100 [ 49 - 31 140 C 0.09 2.70] 009 | 30 | REfk - - - Hi4 | - R3 - [ 207 [ - -
Xigi21—4[2144] Y | k | # | kERE | — 2.35] 8 | FF [ 100 ] 49 - 31 87 B - 230 - 30 | REk - - - Hi4 | - R3 - 147 - -
Xig22—1]2146] ~ [ K | # | KEE [ — 6.91| B [ RK | 100 ] 50 - 31 170 ¢C - 6.91 - 30 | Rk - - - Hi4 | - R3 - 124 | - - |EREEEHS
Rigoo—p | 2146] & | K | & KER | — 1.10] B | FF | 100 [ 50 - 31 22| C 0.21 1.10[ 021 | 30 | Rtk - - - Hi4 | - R3 - [ 104 ] - - |[EREEEHD
2146] W | k| # | xiER [ — 3.90] & [ FK [ 100 ] 49 - 31 82| C 0.70 3.90] 070 | 30 | Rk - - - Hi4 | - R3 - [ 104 ] - -
Xi%23—1|2149] A | Kk | #& | KBEFE [ — 275 B [ RK [ 100 65 | 60 - 41| ¢ - 275 - 40 E%Ef - 35 - H14 | R3 | R3 - 14 | - -
Rig23—2|2149| 1= | Kk | # | KER | — 368 # | MK [ 100| 65 | 60 - 55| C - 368 - 40 *Efif - 35 - H14 | R3 | R3 - | 1a | 7 -
Rig24—1|2150] A | Kk | # | KEE | — 246 B | FK | 100 | 65 60 - 34 ¢ - 246 - 40 E%Ef - 35 - H14 | R3 R3 - 106 - |ERBEEEHKS
Rig24—2|2150| 1= | Kk | # | KER | — 6.00] 8 | FK [ 100 | 63 | 60 - 16| C - 6.00 - 40 *Efif - 35 - H14 | R3 | R3 - | 1a | 7 -
Ri24—3|2150| (£ | Kk | # | KEE | — 214 B [ FF | 100 | 63 60 - 45| C - 214 - 40 E%Ef - 35 - H4 | R3 R3 - 125 - - |ERBEEEHS
Rig24—4]2150] ~ | K | # | KER | — 057 B [ RK | 100 | 63 | 60 - 1.1 ¢ - 057 - 40 *Eﬁf - 35 - H4 | R3 | R3 - | 16| - - |EREEERS
Xigi24—5[2150] 5 | Kk | # | kERE | — 1.46] B | FF | 100 [ 59 - 31 53] C - 146] - 30 | REk - - - - - R3 - [ 190 [ - -
Rigos—1]2151] & | Kk | # [ KER | — 2.99] 8 [ AR [ 100 ] 54 - 31 93] C - 299 - 30 | REk - - - Hi4 | - R3 - 142 ] - -
Xigi25—2[2151] 5 | Kk | # | kER | — 8.26] & | FK [ 100 ] 54 - 31 189] ¢C - 8.26] - 30 | REfk - - - Hi4 | - R3 - [ 104 ] - -
Rig25—3[2151] & | Kk | # [ KER | — 11.55] 8 | FR [ 100 | 54 - 31 285 C - 1155 - 30 | REk - - - Hi5 | - R3 - [12 [ - -
Xig25—4 (2151 b | k | # | kERE | — 300 & [ ~K [ 100 ] 33 - 31 188] C - 300 - 30 | REk - - - - - R3 - [1a ] - -
Rigo6—1]2152] (x| Kk | # [ KER | — 1.85] B | FF | 100 [ 62 - 31 33| C - 185 - 30 | REk - - - H24 | - R4 - [ 106 [ - - |[wEREES
Rigo6—2]2152] ~ | Kk | # [ KER | — 2194 & [ FR [ 100 ] 54 - 31 408] ¢C 3.38 21.94] 338 [ 30 | Rtk - - - H23 | - R3 - [ 10| - -
Xig26—3]2152] & [ Kk | # | KEE [ — 998 B [ RK | 100 ]| 53 - 31 181] C 1.74 9.98] 174 | 30 | RAf% - - - H23 | - R3 - 100 | - - |EREEEHS
Xigi26—4[2152] Y | k| # | kERE | — 1.30] B | FF | 100 36 - 31 87 C - 1.30 - 30 | REk - - - - - R3 - 142 ] - -
iy |2183] & [ K| & KER | — 1.25] B | FR | 100 62 - 31 34| C 0.05 1.25] 005 | 30 | Rtk - - - S56 | - R3 - [ 156 [ - -
2153 (& | k| # | xiEgE [ — 20.12] & [ RR | 100 ] 53 - 31 783] C - 2012 - 30 | REk - - - - - R3 - [ ] - -
Rigog—1]2154] 1= | Kk | # [ KER | — 17.05] B | FE [ 100 | 52 - 31 401 ¢C - 17.05] - 30 | REk - - - Hi6 | - R3 - [1o7 [ - -
Rigog—2 2154 E | K | & KER | — 3.16] & [ FF [ 100 ] 52 - 31 99| C - 3.16] - 30 | REk - - - Hi4 | - R3 - [1a3 ] - -
2154] & | k| & | xiEg& [ — 3.15] & [ FF [ 100 ] 33 - 31 198] ¢C - 3.15] - 30 | REk - - - - - R3 - [1a ] - -
Rig2g8—3[2154] ~ | Kk | # [ KER | — 3.30] & [ FF [ 100 ] 52 - 31 98] C - 330 - 30 | REk - - - Hi4 | - R3 - [135 ] - -
Rigoo—1 2185 B | K | #& KER | — 351 8 | FF [ 100 [ 51 - 31 104 ¢C - 351 - 30 | REk - - - Hi4 | - R3 - [129 ] - -
2155] (% | k| # | xiE@R [ — 13.04] B | FF [ 100 52 - 31 324] C - 13.04] - 30 | REk - - - H25 | - R5 - [ ] - -
Rig29—2]2155] ~ | Kk | # [ KER | — 3.92] & [ FF [ 100 ] 52 - 31 1.1 ¢ - 3.92] - 30 | REk - - - Hi4 | - R3 - [129 ] - -
Rig29—3[2155] & | Kk | # [ KER | — 2.20] 8 [ FF [ 100 ] 35 - 31 136] C - 220 - 30 | REk - - - - - R3 - [ 126 [ - -
Rig2o—4]2155] & | Kk | # [ KER | — 3.19] & [ FF [ 100 ] 35 - 31 183 B - 2.96] - 30 | REk - - - - - R3 - [ 126 [ - -
Eigao—q 2186 (& | K | #& KER | — 1.75] B | FR | 100 [ 62 - 31 30|/ C - 1.75] - 30 | REk - - - Hi6 | - R3 - [ 101 - -
2156 W | k| & | KiER [ — 27.26] & [ FK | 100 ] 53 - 31 65.4] C - 27.26] - 30 | REk - - - Hi6 | - R3 - [ 109 [ - -
30—z 21568 ~ | K | #& KER | — 129] B | R | 100 53 - 31 287] C - 12.90] - 30 | REk - - - Hi6 | - R3 - [ 101 - -
2156] A | Kk | # | xiE®R [ — 120 B | FR | 100 [ 54 - 31 41| ¢ - 1.20] - 30 | REk - - - Hi6 | - R3 - [ 156 [ - -
Xi30—3[2156] & | Kk | # [ KER | — 1061] B | FE [ 100 [ 53 - 31 233] C - 1061] - 30 | REk - - - Hi9 | - R3 - [ 10| - -
Xi30—4[2156] B | Kk | # | kERE | — 2248 & [ FR | 100 ] 53 - 31 658 C - 2248 - 30 | REk - - - H25 | - R5 - [133 ] - -
Xi30—5]2156] & | K | # [ KER | — 203 & [ ~F [ 100 ] 33 - 31 127 ¢C - 203 - 30 | RAfk - - - - - R3 - [1a ] - -
Xig31—1[2157] 3 | Kk | # | kERE | — 1510] B | FE | 100 [ 52 - 31 383] B - 14.74] - 30 | RAfk - - - Hi5 | - R3 - [1s ] - -
Xig31—2[2157] b | k | # | kERE | — 400 & [ FR [ 100 ] 52 - 31 194 ¢C - 400 - 30 | RAfk - - - Hi5 | - R3 - [ 221 - -
Ri31—3[2157] A | Kk | # [ KER | — 2.26] 8 | FF [ 100 ] 52 - 31 80| C - 2.26] - 30 | RAfk - - - - - R3 - [ 160 [ - -
Xig31—4[2157] £ | k | # | kERE | — 7.42] B | FF [ 100 [ 51 - 31 171 ¢C - 742 - 30 | RAfk - - - Hi5 | - R3 - [1o0 ] - -
Xig32—1]2160] 1= | Kk | # [ KER | — 411 & [ R [ 100 ] 47 - 31 103] B - 377 - 30 | REfk - - - H20 | - R3 - [ 101 - -
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Xig32—2] 2160] 1F | 7 B | KER | — 338 # | hK | 100] 47 - 31 92| C - 338 - 30 | Rk - - - H20 | - R3 - [ 101 - -
Xi32—3[2160] ~ | 7 B | KER | — 549] B [ FF | 100 [ 47 - 31 142 B - 515 - 30 | Rk - - - H20 | - R3 - 102 - -
Xi%32—4] 2160] & | 7 B | KER | — 433] & | FF [ 100 | 44 - 31 207] ¢ - 433 - 30 | Rk - - - - - R3 - [1as ] - -
Xi#33—1[2161] » | 7 B | KER | — 6.06] B [ kR | 100 [ 47 - 31 166] B - 596 - 30 | Rk - - - H20 | - R3 - 103 - -
Xi33—2[2161] 1% [ 7 B | KER | — 142 8 | R [ 100 ] 46 - 31 68| C - 142] - 30 | Rk - - - - - R3 - 170 - - |ERBEETHY
X133—3[2161] ~ | 7 B | KER | — 373 B [ rF | 100 46 - 31 110 ¢C - 373 - 30 | Rk - - - - - R3 - 105 - -
Xi133—4[2161] & | 4 B | KER | — 346] B [ FF | 100 [ 46 - 31 151 C - 3.46] - 30 | Rk - - - - - R3 - 156 - - |EAREEERY
X133—5][2161] & [ B | KER | — 400 B | FR [ 100 ] 45 - 31 172 B - 392 - 30 | Rk - - - - - R3 - 151 - -
Xi#33—6[2161] % | B | KER | — 538 B [ FF | 100 45 - 31 225] B - 518 - 30 | Rk - - - - - R3 - 150 - -
Xi#33—7[2161] 5 | 7 B | KER | — 143] B | R [ 100 ] 45 - 31 68 C - 143 - 30 | Rk - - - - - R3 - 164 - -
Xi%34—1] 2162] & | 4 B | KER | — 372 B [ bR | 100] 43 - 31 19.1] C - 372 - 30 | Rk - - - - - R3 - [ 151 - -
Xig34—2] 2162] 1= | 4 B KER | — 461] &8 | FF [ 100 | 43 - 31 232] ¢ - 461 - 30 | Rk - - - - - R3 - [1a8 ] - -
Xi35—1[2163] 1% [ 7 B | KER | — 309 B [ FF | 100 42 - 31 147 C - 309 - 30 | Rk - - - - - R3 - 132 - -
Xi%35—2] 2163] 1= | 4 B | KER | — 332 B [ bR | 100] 42 - 31 16.3] C - 332 - 30 | Rk - - - - - R3 - [ 136 [ - -
Xi35—3[2163] 13 [ 4 B | KER | — 261 B [ R | 100 [ 42 - 31 131 ¢ - 2.61 - 30 | Rk - - - - - R3 - 139 - -
X536 | 2179] 1= | 4 B KER | — 1.98| & | PR | 100 | 55 - 31 51 C - 1.98] - 30 | Rk - - - HI3 | - R3 - [130 ] - -
Xi%37—1] 2180] IF | 4 B | KER | — 6.08] # | bR | 100] 55 - 31 202] C - 6.08] - 30 | Rk - - - HI3 | - R3 - [ 166 [ - -
Xi%37—2] 2180] 1= | 4 B | KER | — 821 # | K| 100] 56 - 31 207] ¢ - 821 - 30 | Rk - - - H19 | - R3 - 126 [ - -
X137—3[ 2180 ~ | B | KER | — 1244] B [ FF | 100 [ 55 - 31 334] B - 1238 - 30 | Rk - - - H19 | - R3 - 135 - -
Xi38—1[2183] 13 [ 4 B KER | — 1.75] 8 | R [ 100 ] 55 - 31 54| C - 1.75] - 30 | Rk - - - Hi9 [ - R3 - 154 - -
Xi38—2[ 2183 ~ | 7 B KER | — 202| B [ FF | 100 54 - 31 100 C - 202] - 30 | Rk - - - H19 | - R3 - 226 - -
2184 1 | K | & | KiEKR | — 1432 B [ FR | 100 | 55 60 - 261 C - 1432 - 40 *Efif - 35 - H19 [ R6 R3 - 126 | 7 -
X839 | 2184| (F | K | # | KER | — 2430 B | K| 100 | 54 60 - 56.1] C - 2430 - 40 *E%Ef - 35 - H19 | R7 R3 - 105 | 7 -

21841 ~ | K | & | K&K | — 15.33| B [ KR | 100 | 54 60 - 637 C - 15.33] - 40 *Eff - 35 - H19 [ R7 R3 - 189 | 7 -
Xi40—1[2188] b | 7 B | KEfR | — 170 B | b [ 100 ] 36 - 31 8if ¢C - 170 - 30 | Mk - - - - - R3 - 101 | - -
Xi40—22189| (X | 7 B | KEfR | — 613 & | b | 100 | 34 - 31 319] ¢C - 6.13] - 30 | Mk - - - - - R3 - | 100 ] - -
X1%40—3]2189] ~ | 7 B | KEfR | — 395| & | bE | 100 35 - 31 205] C - 395 - 30 | Mk - - - - - R3 - | 106 | - -

X411 | 2190 (& | Kk | # | KEE|[ — 1213 B | RK | 100 | 55 60 - 380| C 157 1213 157 | 40 *E%Ef - 35 - H24 | R6 R4 - 180 | 7 -
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X@EmtE (ha)

1 0.00
2 0.00
3 0.00
4 0.00
5 0.00
6 0.00
7 23.42
8 9.78
9 58.22
10 90.14
11 375.86
12 71.21
13 42.40
14 0.00
15 0.00
16 0.00
17 0.00
18 0.00
19 0.00
20 0.00
=il 671.03




